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Identify the vertex and axis of symmetry of each. Then sketch the graph. Maximum
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g}y——t]5(x+6)‘+7 h) y=2Z(x—8)" + 2
i) y="75(x+2)*—1 jly=—08(x—4)}+6

For help with question 3, refer to Example 2.

3. Graph each quadratic relation by plotting the vertex and two other
O\ points. Then, draw a smooth curve through the points.

a) y = 4(x — 6)? + 10 b) y = —0.25(x + 4)% —

\/ { dy=08(x+172+9 d) y=—2.5(x — 9)* -
{3/@7( e y=02(x—3)}*-7 f) y=5(x+7)*+3

O | O g y=06(x+27°—1 h) y = —0.5(x — 10)*+ 6

é\ For help with questions 4 and 5, refer to Example 3.

= 4. Identify the coordinates of the vertex of each parabola. '[hen, write an
': \/_\ l< equation for the relation in the form y = a(x — h)? + k'
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= 9dy=08(x+172+9
e y=02x—3)*—-7
g y="6(x+2)>—1

d)y=-25(x—-92-5
f) y=5(x+7)*+3
h) y = —0.5(x — 10)*+ 6

For help with questions 4 and 5, refer to Example 3.

4. Identify the coordinates of the vertex of each parabola. Then, write an
equation for the relation in the form y = a(x — h)> + k.
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